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Merit #1 exemplar for 91403 2015 Total score 15 

Q 
Grade 

score 
Annotation 

1 M5 

This candidate has received M5 for this question because they: 

a) shifted and labelled the AS curve correctly on Graph One. (1) 
b) provided detailed explanations on how the reform of the RMA will 

reduce costs of production, increasing Real GDP and increasing AS 
(2) and how this will create more jobs and improve Employment (3).  
More in-depth explanations would have included details such as the 
impact of reduced time delays, improving productivity, the 
components that make up AS, the significance of the changes to 
Eco Growth and/or Employment, and the derived demand concept.   

2 M6 

This candidate has received M6 for this question because they: 

a) explained how the falling oil prices will change import payments, 
reduce costs of production for firms and lead to deflation. (4) A more 
complete answer would have included a more specific example of 
costs of production impacted by oil price changes and used the idea 
of profitability to explain why firms lower their prices.  

b) gave detailed explanations of the impact of oil prices on the import 
of goods, the export of goods (5), the import of services and NZ’s 
current account (6). The explanations of the impact of the world 
economic slowdown are contradictory and contain inaccuracies (7).  

3 A4 

This candidate has received A4 for this question because they: 

a) calculated the spending multiplier and the change in GDP. (8)  
b) have not used the spending multiplier to explain how the change in 

GDP occurs. (9)   
c) correctly identified a recession and a recovery on Graph Two (10) 

and identified that in a recession inflation is low (11) and 
consumption is decreasing (12) and that in a recovery consumption 
is increasing (13) and so there is increasing pressure on prices (14).  
A more detailed answer would have explained other typical 
characteristics of a recession and a recovery and elaborated on the 
contrasting utilisation of resources between a recession and a 
recovery and their respective impact on the price level when 
consumer spending increases. 

 

 

 

 

 

 

  

























  

Merit #2 exemplar for 91403 2015 Total score 15 

Q 
Grade 

score 
Annotation 

1 M5 

This candidate has received M5 for this question because they: 

a) shifted and labelled the AS curve correctly on Graph One. (1) 
b) provided detailed explanations on how the reform of the RMA will 

reduce costs of production and improve productivity, increasing Real 
GDP (2) and how this will create more jobs and improve 
Employment (3).  More in-depth explanations would have included 
details such as the impact of reduced time delays, the components 
that make up AS, the significance of the changes to Eco Growth 
and/or Employment, and the derived demand concept.   

2 M5 

This candidate has received M5 for this question because they: 

a) explained in detail how the falling oil prices will change import 
payments, reduce costs of production for firms and lead to deflation. 
(4)  A more complete answer would have used the idea of 
profitability to explain why firms lower their prices.  

b) provided detailed explanations of the impact of falling oil prices on 
import payments (5) and export receipts (6) with a partial 
explanation of the impact on the current account. A detailed 
explanation of the impact of the world slowdown on NZ’s export 
receipts (7) is accompanied by a partial explanation of the impact on 
the current account. A more thorough answer would have included 
explanations using other variables impacted by the changes to oil 
prices and the world slowdown and a valid contrast between the two 
changes. 

3 M5 

This candidate has received M5 for this question because they: 

a) calculated the spending multiplier and the change in GDP. (8)  
b) have not used the spending multiplier to explain how the change in 

GDP occurs. (9)   
c) correctly identified a recession and a recovery on Graph Two (10) 

and identified that in a recession inflation is low (11) and resources 
are under-utilised (12) and that in a recovery resources are being 
more fully-utilised (13), increased consumption occurs and there is 
increasing pressure on prices (14). A more detailed answer would 
have explained other typical characteristics of a recession and a 
recovery and elaborated on the contrasting utilisation of resources 
between a recession and a recovery and their respective impact on 
the price level when consumer spending increases. 

 

 

  


	91403 ex15 15 (1)
	91403 ex15 15 (2)

